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1 The speed of light is
approximately 3 - 8x108

metres per second. How

far will light travel in

5476 seconds? .

Give your answer in .
Scientific Notation ~ Y

to 1 decimal place.

. Shown is the graph
2 Defe:rhnllsn?rr‘?/a:etel; Determine the 4 v asinbx°.S\J/Vh|<D:1T o) Calculate 6 Solve the | 7 . Find the
ht- gl d. gradient and the 4+ are the values of following equation of the
right-angle y-intercept of the | 5] aand b? inequality.. line passing
03.2m following equation... | R 1 1 1 X X through
57-9m f 57 '60' 1_+2_ X — _+_>4
_— = 2y =x+ 10 | 4 2 374 |9 3 (—4,3) and (6, —7)
8 Whafsc;;zsﬂ;? 9 Solve the 10 'Change the 11 Write ’rl‘:re 1“o||ov|vm9r ol V.Vl"l'i:e Ite ‘
the quadratic subject of the init's simplest oflowing in The Multiply out the
interior equation formula to c.. 1 11 form.. form... following brackets
NOMAGON and C\2 3k3x 4k 3 y = (x+ a)? + b. and simplify...
“ges | X T 2x—=8=0 bz(E) +d 2k y=2x2—10x+1 | Gx=7D6*—6x-2)
Calculate the Solve th . . i ial [6
14 issng valume. | 19 16 Evaluate.. |17 000 118 simplify... | 19 smidera §
\ i i system of equations... £128 600. It's value
E , { ' Slmphfy Z 75 + 3y _ 9t x2 — 64 depr‘e;—:{ia’res byh3-6°/o each
60 cm 80 cm 1 2 5 3 == > YC(.JI". ow muc
v V is it worth
Volume = 2 \jolumz:EIiTrzs 72+ \/E T \/§ 3x + Zy =5 x°+ 11x + 24 after 3 years?
The volume of Identify the y- Express the
O this sphere is 21 A function is 22 intercept, the 23 Sowe:he 24 Calculate the 25 following with
= 011304 mm> . defined as coordinates and nature equartion standard deviation a rational
g o, of the turning point and ) o = of the following 6 denominator
Calculate fO=t"+2 the equation of the axis 7sinx°+2=0 s5e data set... d simplif
s For what value(s) of | of symmetry. and simplify
dive. | tdoesf(=182 | = (x—1)242 | forO<x<360. | 81,82, 84,8890 | \/14 ifrequired.

27 Add the
following
fractions...

7 4
(x+5) (x-2)

28

Factorise...

3c2+4c—7

29 This year, Sheryl

paid £280 for her
car insurance. This is an
increase of 40% on last
year's payment. How much
did Sheryl pay
last year?

30 Calculate the length
of the missing side...

xcm

“

49 cm

31 VecTorm:(i)

and vector n = ( s ) )

= 5
&

Calculate |3m — 2n|.




